Psychological Processes in the Work Context
_____________ approach to intelligence is useful for test construction because it indicates different dimensions of the intellect, including products.
	-	Guildord's 

_____________ attachment type would be the appropriate insecure attachment behaviour to describe a person who prefers to be alone and avoids committing themselves in relationships.
· Avoidant 

_____________ is concerned with adjustment and maladjustment in the work context.
· Employee and organisational well-being


_____________ conflict focuses on issues-related, tangible and concrete issues that can be dealt with more intellectually.
· C-type

_____________ focuses on finding new meanings in how individuals construct their personal beliefs and attach meanings to these beliefs.
· Constructivism	
		
_____________ focuses on the human capacity for goodness and virtuous character as compared to disciplines that focus on negative experiences.
· Positive psychology

_____________ focusses on understanding the feelings and thoughts a person ascribes to a stimulus they have experienced.
· Introspection 


_____________ is mostly used in the psychoanalytical approach with the aim of bringing unconscious content to the conscious.
· Free association 		

_____________ opposed the idea of universal truths and suggests that psychology should focus on the experiences of people in their social and cultural contexts.    
· Postmodernism		

_____________ proposed that the accurate study and analysis of jobs and work processes and determining standards and best work methods as the only ways to select, training and pay the best employees according to their level of work performance.
· Taylorism 


A car mechanic complains about constant back pain. The problem most probably lies with the _____________.
· Body posture he assumes while working

A group is always at its most productive during the _____________ stage
· Performing 

A group will probably function more creatively if _____________
· Members have varied characteristics

A middle manager is feeling aggressive towards top management for various reasons – but his dos not display his feelings towards them.  Instead he interacts aggressively with his subordinates. Top management calls on you to study the problem. Which field of Industrial Psychology is at issue in this case?
· Organisational psychology			

A mother who is experiencing a great deal of interpersonal conflict with her son attempts to resolve the conflict by explaining her point of view to the son. If he seems to understand her views and experiences, it provides evidence that he has reached the _____________ stage of cognitive development.
· Formal operational 

A person in a responsible position states: “I shall no longer tire myself with hard work – after all, nobody listens to me.” With which motivational concept or approach would you associate this person?
· Expectancy 

A person who cannot get through the day without jogging may be understood in terms of _____________
· Perseverating autonomy

A person who enjoys jogging for the pleasure of being active and to socialize with friends may be best understood in terms of the concept of _____________
· Flow

A person who previously experienced war bombardments also feels anxiety during thunderstorms. Their anxiety _____________
· Indicates stimulus generalisation

A person who puts pressure on others to recycle used materials reflects _____________ values.
· Economic 

A person who suffered some impairment in terms of these physical and cognitive functions in a car accident asks you to refer him to a psychologist who could help him develop corrective actions that would address the brain injury. You would refer him to a _____________
· Neuropsychologist 

A reward schedule, according to which workers are rewarded only after producing a stipulated number of items, is known as a _____________ schedule.
· Fixed ratio

A social person would be described as someone who _____________.
· Is geared towards serving other

A successful mechanical designer changes his career after a few years and becomes a high-level public relations consultant, as a result of which he works with a lot of people every day. This change is likely to be the result of _____________
· A need for more social stimulation 

A tap on the leg just below the knee leads to the knee-jerk response. This response even occurs in newborns. The knee jerk following a tap of the leg is an example of a(n) _____________
· Unconditioned reflex

A type of pattern recognition where the perceiver uses existing knowledge, impressions and expectations to construct a cognitive understanding of a stimulus is called _____________.
· A top-down process
· Gradient texture 
A type of perception where the perceiver uses too many personal attributes to make attributions or to explain causes of or reasons for behaviour in individuals or groups is referred to as the _____________
· Fundamental attribution error

According to Erikson’s theory, the ‘eternal critic’ who finds it difficult merely to accept people is most probably lacking _____________
· Trust

According to Herzberg, which of the following will most likely lead to job satisfaction?
· Opening a cafeteria for workers
· A system of flexi-time being introduced into the company
· Soft music being played in the offices during office hours
· Paying a bonus to employees who have had ten years’ service with the organisations
· A clerk writing a computer program in his spare time to help him in his work, but without being paid for it

According to research on team communication by Pentland and other, four factors especially were found to be important for effective communication in high performance groups or teams. One of the following actors does not belong to these four facilitating group communication factors.
· Power games
· Charismatic connectors
· Energy
· Engagement
· Exploration 

According to the law of effect, learning is facilitated by _____________
· Pleasant results 

Affiliation behaviour is based on _____________
· Early learning of attachment behaviour

Affiliation problems in individuals and in groups may be the result of the following:
· People lack good communication skills to be accepted into a group

After a plane crash in an inhospitable environment, it was found that some survivors fatalistically, passively awaited death, while other tried everything possible to stay alive. In terms of causality according to attribution theory _____________
· Both the groups possibly had an extern locus of control

Aggressive behaviour is best understood in terms of _____________ to harm others	
· The intention 

Alignment of developmental stages:
· Sensory	  	>  gains knowledge through looking at, touching and holding objects
· Pre-operational	>  learns through actions and has concepts of mass and the constancy of objectives
· Concrete operational	>  makes progress towards adult ways of thinking
· Formal operational	>  uses logical, systematic and diverse approaches to problem-solving 

An analysis of two organisations leads you to believe that the organisation ABC has a large power distance while organisation XYZ has a small power distance. Which of the following characteristics are indicative of these organisations?
· Organisation ABC	>  the salary gap is wide and employees are dependent on their managers
· Organisation XYZ	>  a flat hierarchy, and subordinates are consulted 


An athlete who has trained very hard and consequently performs at his own personal best in a road race feels very satisfied with his performance, even though he did not win the race. His reaction is an example of _____________
· Internal attributes

An early experimental project in I/O psychology confirmed social factors as important in the work place. This finding refers to _____________
· The Hawthorne studies

An electrical contractor has a long-term contract with a builder. According to the contract, the contractor is paid every time he has completed the wiring of five houses. This is an example of reinforcement of the basis of a _____________ schedule.
· Fixed ration 

An employee has difficulty recalling skills included in his training because of an unpleasant encounter with his supervisor. This could be attributed to _____________
· Repression

An employee who spreads malicious gossip about a colleague, because he or she wants the colleague ousted from a committee, shows _____________
· Instrumental aggression 

An individual’s reaction to retrenchment is withdrawal from social interaction. This reaction illustrates _____________ in the emotional process.
· Action readiness

Applicable concepts:
· Bowlby	>  attachment
· Havinghurst	>  development tasks
· Piaget	>  assimilation

As an experimental science, psychology has its origins in _____________.
· Philosophy
· Geography

Author selection:
· Havighurst	>  development tasks
· Bowlby	>  attachment
· Marcia	>  vocational identity diffusion
· Erikson	>  psychosocial development

Complete the following statement about values by selecting the appropriate description.  Values _____________.
· Are not always directly reflected in behaviour

Creativity is related to _____________
· Intelligence

De-individuation in groups is associated with _____________.
· A focus on external events rather that personal feelings



Devi has her own understanding (personal constructs) of life and work. Elna wants to engage in dialogue with Devi to understand how she constructs her beliefs. This can lead to shared meaning and a change in the constructs of both Devi and Elna. This social interaction, contributes to an understanding of how Devi’s personal constructs have been influenced by the political, social and cultural context in which she functions. This example relates to _____________
· Postmodernism 

Eidetic reduction is a technique mostly used by _____________
· Cognitive psychologists 

Excuses are being made up – example: Why assignments have not been handed in? This is an example of_____________?
· A stereotype 

Fechner, Galton, Binet and Simon contributed to which subfield of I/O Psychology?
· Psychological assessment				

Genes control specific characteristics through a combined influence of various genes.  This is commonly referred to as _____________
· Multiple determination

Graphically, the relationship between arousal and performance in complex tasks is a _____________
· Inverted U-shaped function 

Greater satisfaction among group members is a characteristic of _____________ communication networks.
· Decentralised 

Group dynamics refers to _____________
· Unconscious elements that influence the individual’s behaviour 

Group facilitation _____________
· Is aimed at members of a group getting to know themselves and each other better to function effectively as a group

If the respective performance so the children of two highly intelligent parents are poor, average or excellent it could be due to _____________
· Genotypical and phenotypical differences

If you are a contemporary rather than a traditional manager you would rather _____________
· Stimulate conflict within limits

If you want to make a valuable contribution to fill in the gaps in the study of personal variables that influence social conflict, a good choice would be to study _____________
· Values 

If you were to deliver a speech during which you simultaneously monitor what you are saying and how well you are saying it, this would be an example of _____________.
· Metacognition

If an individualist society organisations emphasise _____________
· Challenging work
If the employee continuously works in a certain position which one of the following body parts is prone to repetitive-strain injuries?
· Feet

Imagine that you are about to give an oral presentation in one of your classes. You sense your muscles becoming tense and your breathing and heart rate increasing. These experiences are components of the pattern of physiological changes associated with the functioning of _____________.
· A dominant sympathetic system
· An underactive pituitary gland 

Immediately after graduating from university, Kabelo became a successful member of the human resources team at Company X. She formed a close working relationship with the HR manager in order to gain practical experience from him, her superior. She also held discussions with the career psychology expert of the team in order to develop a five year plan for promoting her career. At the time she had been married for five years. She also had many friends with whom she socialised regularly. According to Levinson, Kabelo is trying to manage some of the following development tasks (a to e)
a) Set life goals
b) Develop an occupation identity
c) Find a mentor 
d) Establish intimacy
e) Be part of a dual career couple 
In a disagreement with colleague, but trying to restore the relationship, it might be more effective to say to them _____________
· “I also have feelings”

In a conversation about the success of a birthday party, for example, one person may say, “It was nice and cool” referring to the weather on the day the party took place, whilst another person may use the same phrase implying the birthday speeches were enjoyable. This scenario is applicable to which aspect of meaningful conversation? 
· Relation 

In accordance with his mother’s wishes, John is studying to become a medical doctor, even though the sight of blood terrifies him.  Jane, on the other hand, remains uncertain about the career route she should take. 
John is experiencing the foreclosed identity state of Marcia’s ego-identity states in her career choices, whereas Jane is experiencing the moratorium state of Marcia’s ego-identity states her career choices.

In an individualist society organisations emphasise _____________
· Utilising ability,
· Challenging work 

In general, in human resources development, it is assumed that the worker _____________
· Is consciously aware 

In I/O Psychology we could belief that each employee in his own right is important, but also part of all sections and processes in the work place and must be made aware of their role in the work place to ensure the best results for the work place. This meta-theoretical stance is best associated with which perspective?
· Systemic 

In mathematic classes at school Thabo learns to do maths. When Thabo takes on a part-time job over weekends selling take-always at a soccer match, it required of them to calculate the change for each transaction. This type of calculating behaviour used by Thabo involves _____________
· Transfer of learning


In Shakespeare’s story of Macbeth, Macbeth interpreted the witches ‘words to mean that he would become king despite the fact that the ruling king, Duncan, was still alive. He perceived the words subjectively according to his beliefs and reacted accordingly. Which shortcut did Macbeth use in forming this impression?
· Perceptual adaptation	

In terms of static and dynamic muscle activity, a _____________ will require more rest period.
· News presenter

In terms of interpersonal attraction, one or more of the following statements is/are false.
· Physical attractiveness is a definite factor in interpersonal perception and relationships
· Most research indicates that physically attractive people are more skilled than the less attractive
· Physical attractiveness can give rise to incorrect judgment being made about people
· Similarity in physical attraction may be a stronger affiliation factor than dissimilarity
· Physical attractiveness is probably a lesser factor in binding relationships

In which field will a person with a dominant and well-developed right brain hemisphere possible excel?
· Art and music

Individuals who readily become emotional and excited may have a _____________
· Dominant sympathetic system 

Insecure attachment during the early years can result in the following adult behaviour
· Emotional sensitivity and fewer social skills

Job satisfaction is best described by one of the following statements _____________
· A predominantly positive attitude toward the work situation

Joe notices two men who seem to be having a heated exchange. They are speaking loudly and one man is slapping the other one on the shoulder. The same situation would have been interpreted differently had it occurred in a subdued banking environment or at a large soccer gathering. The difference in the interpretation of the behaviour would depend on _____________.
· The situation 

Learning can be distinguished from performance in that _____________.
· Learning refers to potential change in behaviour			

Lightning started a big veld fire. As riots were common in the Johannesburg area at the time, members of the public assumed that rioters caused the fire. This scenario demonstrates the law of _____________.
· Proximity 

Long-lasting attitude change can be achieved effectively by _____________
· Fear-arousing messages that are not too intense and are relatively impersonal.

Many shops display snacks, sweets and magazines near the pay points to increase their sales. This strategy is reflective of _____________.
· Behaviourism

Mnemo techniques foster memory by _____________
· Associating facts with visual images 

Mob behaviour _____________
· May amount to incitement to participate in aggressive behaviour through the groups’ behaviour

Most characteristics, in individual development, are determined by the combined influences of various genes. This phenomenon is commonly referred to as _____________
· Multiple determination 

Our eyes perceive objects from slightly different positions in space (because they are located on different sides of the face). These perceptual discrepancies, which the brain interprets to signal depth, are known as _____________.
· Retinal disparity

One of the following ergonomics recommendations contributes to the proper design of work stations.
· Grips and handles that fit the hand of the user

Plegia is to the complete loss of muscle power, as paresis is to _____________
· Muscle weakness affecting movement in the limbs

People tend to display behaviours that are characterised by overindulgence such as excessive smoking and alcohol consumption, overeating or nail biting. According to which of Freud’s developmental stages could these peoples’ behaviour be fixated?
· Oral 

Personnel selection, training and development, and Human Resources assessment is a practice of _____________
· Personnel psychology 

Pseudo or manipulated type of conflict is when the person _____________
· Is able to control the other person by using ploys or games

Punishment _____________.
· Has negative consequences for interpersonal relations if it is very intense.

Professional training, practice and conduct of psychologists is governed by the _____________
· Professional Board for Psychology 

Research shows that the work values of SA high school pupils are mainly centered on _____________
· Utilising ability

Research on affiliation behaviour shows that _____________
· People with high intimacy needs are more genuine in relationships

School of thought / paradigms
· Cognitive	  >  compares the human mind with computers in terms of inputs, outputs and active processing
· Functionalism    >  based on the work of Darwin, turning the focus of psychology to individual differences
· Structuralism	  >  criticized for using introspection as a research method and for omitting unconscious behaviour
· Psychoanalytic	  >  emphasises the role of the unconscious in conscious behaviour

Someone who has not been promoted for a number of years and believes that this is owing to the characteristics or system of the working environment within which she works. This is a manifestation of _____________
· External attributions
Stimulation of the _____________ results in emotions such as anger, excitement and despondency.
· Limbic system

Structure matching:
· Reticulum activation system	>  coordination centre consisting of diffused cells and facilitation functions (eg activation, sleep and wakefulness)
· Cerebral cortex		>  seat of sensory, motor and association centres that interrelate and interpret information
· Medulla oblongata		>  blood pressure and respiration

Symbolic rehearsal is the process in which _____________.
· Learners visualise themselves engaging in a behaviour

The _____________ controls vital functions of the body and acts as a relay station of sensory information
· Medulla oblongata

The _____________ lobe is called the executive part of the brain because it functions similarly to a company’s CEO.
· Frontal 

The _____________ schedule is not appropriate to use if one want to encourage the learning of new behaviour.
· Continuous reinforcement

The area in the brain that serves as a relay station for impulses is the _____________.
· Thalamus

The concept of intelligence refers to _____________
· A hypothetical construct for intellectual performance

The emphasis in _____________ is on the organisation of immediate experience
· Gestalt psychology 			

The essential and major source of energy for muscular activity is _____________
· Glucose

The fact that we are generally far more aware of the changes rather than the constants in our sensory environments can be explained by _____________
· Sensory adaptation

The head sees her function as creating task structures in the department. Her subordinates accept this, but expect more socio-emotional support from her. Problems could arise concerning _____________
· Role conflict 

The intelligence quotient (IQ) is _____________
· A ratio between mental age and chronological age 

The pseudo or manipulated type of conflict is when the person _____________
· Is able to control the other person by using ploys or games.

The role of genetics in behaviour was recognised in _____________.
· Functionalism					

The smallest noticeable difference is a fairly stable proportion of the mass of the original object.  This is known as _____________.
· Weber’s law

The tendency in people to try to process things in as ‘good’ a Gestalt way as possible, will be explained best by which law?
· Pragnaz 

The underlying assumption in respect of positive motivation is that the worker _____________
· Knows what is expected of them

Two railway lines that appear to join in the distance illustrate _____________
· Linear perspective

Values are _____________
· Psychological orientations of the individual

We can explain the main difference between Structuralism and the Psychoanalytic schools of Thought by the fact that Structuralism places great emphasis on conscious processes, using introspection as a method of therapy, whereas Psychoanalysis places its emphasis on unconscious processes with the aid of free association as a method of therapy. 

We often hear employees complaining about their employers, the poor working conditions and pay. Yet they will not leave their current job for another job. They probably _____________
· Are uncertain of what they will have to do or what to expect from a new employer 

We tend to perceive an image as a whole even if our information is fragmentary. This statement refers to the principle of _____________
· Continuity 

What type of group’s membership boundaries are determined by the hierarchical structure of the organisation? A _____________ group.
· Command 

When aged people tend to recall past rather than recent events this may be due to _____________
· Proactive inhibition

When body tissue is damaged by injuries like abrasions or cuts, healing is affected through _____________
· Mitosis 

Whether conflict handling is effective or not depends on _____________
· Identification of the source of the conflict 

When he starts a new job, a young man begins to exhibit signs of self-absorption. According to Erikson’s ego-identity phases, the young man may be experiencing difficulties in the _____________ stage of development.
· Intimacy vs. isolation

When a person unexpectedly find the solution to a problem that he or she has been trying to solve for a while, the problem-solving stage referred to as _____________ is evident.
· Illumination 

When a work group stagnates _____________
· The group must go back to the storming phase 

When a stationery supplier failed to deliver the white screens to use with an overhead projector, Sindy, the training manager, instructed her subordinates to cancel the planned symposium. She felt that the speaker would not be able to make their presentation without the screens. Lesley, who is popular for using unexplored paths and unconventional solutions, proposed that the overhead be projected on the wall, which reflects just as well as the screens. 
1) What is the term given to Sindy’s tendency to consider only the usual function of an object and overlook other possible uses?
· Functional fixedness

2) Which type of creativity would you associate with Lesley’s problem-solving strategy?
· Divergent thinking 

Which alternative is NOT an example of job enrichment?
· Nurses in a hospital are rotated on a monthly basis
· A lecturer may decide how many assessments are compulsory
· The superintendent delegates some of his duties to his assistant
· A lecturer is given the responsibility to plan and delegate duties to tutors
· The senior sister may plan work division without first consulting the matron

Which form of aggression would be evident during the forced hospitalisation of an alcoholic employee?
· Sanctioned

Which of the concepts in the alternatives represent the attitudes of the following two candidates?
a) The person complains that her work is not challenging and that she is not paid fairly.
· Job dissatisfaction

b) The person believes that management is not committed to ensuring safety in the workplace and is therefore considering resigning.
· Non-commitment 

Which of the following approaches emphasises changing unconscious content by using introspection as a method of therapy?	-	Psychoanalysis  

Which of the following could cause cognitive dissonance?
· An unresolved conflict leads to frustration
· If you don’t work harder, you will not be promoted
· The secretary looks so happy, that she is probably in love
· If the behaviourists are correct, humans and the rats have similar brain cells
· The neighbours you have always regarded as a happily married couple are getting divorced

Which of the following career tasks was proposed by Marcia?
· Vocational identity diffusion 

Which of the following denotes the basic principle according to which people are naturally inclined to experience things in as good as gestalt as possible?
· Law of Pragnaz


Which of the following factor in an organisation is NOT a likely antecedent for conflict to occur?
· Interdependence between group members
· Colleagues holding opposing values on how things should be done
· Information received being filtered from management to lower levels
· Good and clear communication channels within the organisation
· A highly authoritarian and dogmatic personality with low self-esteem

Which of the following statements describe the ideal seat in the work space?
· The seat width must be narrower wider that the sitting buttock

Which of the following is NOT a learning principle to facilitate the acquisition of knowledge, skills, abilities and orientations during training?
· Experiential learning

Which of the following concepts did Havighurst use to identify behaviours and processes which have the potential to make people happy when they are successful, and to social disapproval if they are unsuccessful?
· Developmental tasks 

Which of the following domains in human development emphasise the roles of self-development and social influences in personality formation?
· Psychosocial development

Which of the following ergonomics recommendations contributes to the proper design of work stations.
· Grips and handles that fit the hand of the user
· Plugs and switches located far from the work station

Which is of the following is NOT a symptom of groupthink?
· The feeling that the group is vulnerable and decisions must be taken to protect it.
	
Which of the following is prone to repetitive-strain injuries?
· Neck 

Which of the following represents the components of attitudes?
· Beliefs,
· Feelings, and 
· Behaviour 

Which of the steps in the emotional process are reflected in each of the following statements?
· “This is too much for me to cope with”					- appraisal 
· “I feel very anxious and disempowered”					- action readiness
· “I have to remind myself that it is not over yet and that I should not act out right now”	- regulation 

Which one of the following might be the least significant factor in the definition of a group?
· Structures that provide for interaction and communication between members
· Structures that clarify tasks, roles and rules
· Members perceiving themselves as a group
· Physical proximity of members
· Members’ agreement on objectives

Which one of the following uses principles and assumptions of psychology to study and influence human behaviour in the workplace?
· Industrial & Organisational Psychology
· Counselling psychology 
Which part of the brain is important for an individual following a career as a mathematician?
· Left hemisphere

Which school of thought uses the General Systems theory to emphasise how systems work in various interrelated ways to produce outputs?
· Functionalism

Which school of thought argues that new meaning may be attained by studying how individuals construct their personal beliefs and what meaning they attach to these beliefs?
· Postmodernism 

Which school of thought in Psychology emphasises the importance of human consciousness, self-awareness and the capacity to make choices as people create their own ways of responding to the world as they go through life?
· Gestalt 

Which scientific framework asserts that each person has an own understanding of what reality if and about the meaning of things?
· Relativism

Which statement is correct?
· When a supervisor puts across a message with which her group disagrees, she will more easily change their attitude if she points out the positive and negative aspects of this message.
· Fear-arousing messages are effective if they are very intense and directed at a particular person.
· Attitudes are based n discrimination and are thus strongly cognitive.
· When communication is aimed at changing central attitudes, the quantity of information is important.
· If one wants to change the principle attitudes of the audience, persuasive cause are not necessary. 

Which statement is correct?
· Inherited intelligence is a measurable construct
· According to Vernon, the G-factor explains all intellectual operations
· Intelligent behaviour may be the function of various cognitive functions
· Ratio IQ is the magnitude of the standard deviation from the average score
· Extreme levels of intelligence refer to ordinary manifestations of intelligence 

Which statement is incorrect? Conformity _____________
· Involves the need for acceptance
· Involves succumbing to group pressure
· Promotes conventional decision making
· May result in changing one’s personal opinions
· Involves the outcomes that group membership will have for the individual 

Which subfield in I/O Psychology is concerned with scientifically exploring and verifying psychological knowledge?
· Research methodology				

While attending the discussion class for IOP1501, Thandi concentrated on the lecture to the extent that she was not distracted by the yawns and whispers of her tired colleagues.  This is best described by _____________.
· Selective attention

Who would probably do well in a committee that has to organise the division of work in a department? The _____________ person.
· Power 

“Work should be fun.” According to your study material name the author in psychology who would make a statement like this?
· Bordin 
You are the panel member. Your fellow panel members are forming incorrect impressions of the applicants. Sipho consider early information about the applicants as more important than later information. James continuously makes negative comments about the suitability of women for a traditional male position when a female applicant is interviewed. Match the panel members with the factors that may be contributing to their forming faulty impressions
· Sipho 	 >  primacy effect
· James	>   stereotype

You are requested to provide an estimate of your department’s stationery costs for the next three months.  You’ve made minor adjustments from the previous months’ estimates, irrespective of the fact that your department will need more stationery as the next month has always been characterised by a high level of correspondence. Which type of heuristic has influenced your decision?
· Anchoring and adjustment

You are 20-years old and invited to a work party at which a new product is launched. While observing the people socialising, which of the following strikes you as out of place in terms of your knowledge of affiliation behaviours?
· An older, smartly dressed woman in the company of a markedly younger man

You have noticed that Sally, your colleague, tends to be very withdrawn when it comes to friendships and relationships at work. She fears she might not fit in, so she keeps to herself. Which pattern of attachment behaviour best describes Sally’s behaviour?
· Avoidant attachment type

[bookmark: _GoBack]You will be likely to notice the difference when holding an object weighing 1kg when that weight is doubled to 2kg. However, if you are holding a 20kg object, you are less likely to detect the addition of 1kg, a change that you easily detected when the initial weight was 1kg. This phenomenon, which suggested that consumers’ ability to detect changes in stimulus intensity appears to be strongly related to the intensity of that stimulus, is called _____________
· Just-noticeable difference 

